




















Find the option which should replace (?)

( 3 , 68 , 5 )

A. ( 2 , 10 , 1)
B. ( 5 , 95 , 8 )
C. ( 2 , 72 , 10 )
D. ( 4 , 64 , 5 )



If in a certain code language C = 9, K=121 and UA=442 then GOT=?
यदि एक दिदित कूट भाषा में C = 9, K = 121 और UA = 442 है तो GOT =?

A. 674 
B. 774 
C. 447 
D. 675



Find the option which should replace (?)

2 + 2 = 5
3 + 3 = 7
3 + 6 = 11
5 + 25 =?

A. 32
B. 34
C. 35
D. 40



Find the option which should replace (?)

20 , 20 , 24 , 42 , 90 , ? 

(A) 170

(B) 200

(C) 190
(D) 180



Find the option which should replace (?)

11 , 13 , 20 , 48 , 111 , ? 

(A) 343

(B) 237

(C) 250
(D) 182



Find the option which should replace (?)

42 , 45 , 52 , 65 , 86 , ? 

(A) 124

(B) 115

(C) 117
(D) 104



Find the option which should replace (?)

6 , 9 , 18 , 45 , 135 , ? 

(A) 470

(B) 472.5

(C) 480
(D) 450



Find the option which should replace (?)

0 , 6 , 24 , 60 , 120 , 210 , 

(A) 334

(B) 335

(C) 336
(D) 337



Find the option which should replace (?)

11 , 14 , 19 , 28 , 43 , ? 

(A) 76

(B) 66

(C) 75
(D) 65



Statements:

No cream is lotion.

Not a single lotion is oil.

Every oil is shampoo.

Conclusions:

Some shampoos which are oil 
are cream as well.

No cream is an oil.

EXAMPLE

कथि: 
कोई क्रीम लोशि िही ीं है।

एकभी लोशिऑयल िही ीं है. 
हर तेल शैमू्प है।

दिष्कषष: 
कुछ शैंपू जो तेल हैं, क्रीम भी हैं।
कोई क्रीम तेल िही ीं है।



Statements:

No cream is lotion.

Not a single lotion is oil.

Every oil is shampoo.

Conclusions:

Some shampoos which are oil 
are cream as well.

No cream is an oil.

EXAMPLE



Statements:

No laptop is apple.

Not a single apple is mobile.

Every mobile is tablet.

Conclusions:

Some tablets which are mobiles 
are laptops as well.

Some tablets are not apples.

EXAMPLE

कथि: 
कोई लैपटॉप एप्पल िही ीं है।

एकभी सेब मोबाइल िही ीं है. 
हर मोबाइल टैबलेट है।

दिष्कषष: 
कुछ टैबलेट जो मोबाइल हैं, 
लैपटॉप भी हैं।

कुछ टैबलेट सेब िही ींहैं।



Statements:

No laptop is apple.

Not a single apple is mobile.

Every mobile is tablet.

Conclusions:

Some tablets which are mobiles 
are laptops as well.

Some tablets are not apples.

EXAMPLE



Statements:

A few balloons are not toys.

All toys are bear.

No bear is wild.

Conclusions:

No wild is a toy.

No balloon is wild.

EXAMPLE

कथि: 
कुछ गुब्बारे खिलौिे िही ींहैं।

सभी खिलौिे भालू हैं।

कोई भालू जींगली िही ीं है. 
दिष्कषष: 
कोई वाइल्ड टॉय िही ीं है।

कोई बैलूि वाइल्ड िही ीं है.



Statements:

A few balloons are not toys.

All toys are bear.

No bear is wild.

Conclusions:

No wild is a toy.

No balloon is wild.

EXAMPLE



Statements:

No curtain is an element.

All elements are pillows.

Conclusions:

All pillows being curtains is a 
possibility.
Some elements are definitely 
not curtains.

EXAMPLE

कथि:
कोई पिाष तत्व िही ीं है।

सभी तत्व तदकए हैं।

दिष्कषष: 
सभी दपलो के पिे होिे की

सींभाविा है।

कुछ एदलमेंट दिदितरूप से पिों

िही ींहैं।



Statements:

No curtain is an element.

All elements are pillows.

Conclusions:

All pillows being curtains is a 
possibility.
Some elements are definitely 
not curtains.

EXAMPLE



Statements:

No phone is an airplane.

All ships are airplanes.

Conclusions:

No ship is phone.

At least some airplanes are 
phones.

EXAMPLE

कथि:
कोई फोि हवाई जहाज िही ीं है।

सभी जहाज हवाई जहाज हैं।

दिष्कषष: 
कोई दशपफोि िही ीं है।

कम से कम कुछ हवाई जहाज

फोि हैं।


